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Lesson 1

I. Translate the following sentences into Classical Chinese using words and grammatical points
in this lesson.

1.

Virtue is the root of wealth.
tueg tja:? zlue: tjiw pucn? la:1? 48 % fF © X @ ({25 1 2 AR )
= the particle la:I7, the definition construction A tja:? B la:[? ‘(the matter of) A is B’

. YOUponorific are not a family of a thousand chariots.

2shu? pwl snhimn Aljwys tiw kra: (la:1?2) ¢ 3% 2 % Y R (@) [FIET IRz 5 ()]

© the negation of nominal predication

. Is governing rectifying? (Lu style)

tiens tja:? tieps la ®§ K T 7 B EEL]
= the Lu-style yes-no question particle la

Is this the fish’s joy? (non-Lu Warring States’ style)
dje? la: tw raxwe la: @ 3 L ¢ 7 [ U2 EEH0)

= non-Lu-style yes-no question particle la:

(The original exercise question is problematic.)

. This is its true color (as I have realized now).

dje? gui tjens sruglw? & ¥ € 2 ¢ [RHEMAL]
= the realization particle u?

As for the way of heaven and earth, it is about sympathizing with the people.
qhl'in Uels tjw I'u:? sqmig min la:1? R % W 28 98 & % Rz @R tH]
 the classical topicalization construction A B la:I? ‘as for A, it is B’

(The original exercise question is not very good.)

Who is Cling Yeii?
duns lww c*al djul 04 & & 3& (A ESEHE]

 the classical copula ¢al

II. Translate the following sentences into Preclassical Chinese using words and grammatical
points in this lesson.

“The full series is available on my website (Wwww. juliosong. com).
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1. I am a reckless person.
la? c¥i? mansnjin $ 4& % N [THEZ A]

> the preclassical copula ¢*i?

2. Itis said: “King Ning halted at the northern bank of the river”
6¥i? 6*ad nem 6*an snhis ga ga:l syra: 419 B T 2 5 W ¥ [MEE S R T ]

= the preclassical impersonal quotation construction 6¥i? ¢*ad... ‘it is said: ...

3. The Duke of Ceii walked the path of virtue and followed the divination result.
tiww klo:n *i? tui:g tjw gram 6*i? po:g tjiw lons W 15 58 @ W 45 58 | © W A AHEEZATHE b 2]

= the low topic-marking use of ¢*i?, the resumptive pronoun tjw

4. As for the madman, sluggishness and cockiness were what he did.
6¥i? g*an mroms nawe dje? ?sa:gs Y& 1% ¢ & 1& [MEIEIHEUZME]

= the high topic-marking use of ¢*i?, the resumptive pronoun dje?

5. Don’t say you can't. Just put your heart in order.
mlan? ¢*w? pwd kMu:g 6¥i? zli:ls kod shum B 19 % € Q&% [F & [ EB 5 HERS IR0

= the “polar contrast” use of "i?

Lesson 2

Translate the following sentences into Classical Chinese using words and grammatical points in
this lesson.

1. The dead person had not yet grown old.
man njinmuds rw:? & R % K [CAKRE]
= the “adjectival” use of intransitive verbs, the use of the negative perfect marker muwds
with adjectives

2. The State of Cli is better than the neighboring states.
sphra? gjen? c*a rin kvucg la:l? R & 5 & B @ [ 40 ]
= the comparative construction A Adj ¢¥a B la:I? ‘A is Adj-er than B’

3. Yad gave Mencius’s house to S{in. He didn't tell this to the King,
ne:w lu? mrams ?slwi? tju hlig las hljuns (njw) mwdskugcvac¥an 2 f F YL BB E(M % 5 T
[ZE LA 2 S ERGRTOR T~ ]
= the DO-preposing coverb lu?, the IO-introducing preposition ¢*a, the omission of the
DO pronoun tju

4. Tang made him his minister and treated him with respect.
Iray gin njwric? tiw W E A T8 W [ TiRE 2]
= the transitive verbalization of nouns (causative/idiomatic)
5. The King of C'l1 befriended Tsi L and ridded him of his disease.
sphra? 2shw? c¥wi? 2shu? gra:gs njw khas quizid B ¢ X $ @R A ¥ If [ 7 & 788 & =K

= the denominative verbalization of nouns, the transitivization of intransitive verbs

6. Your Majesty can promote the Way and teach those who understand things slower.
cvan nui: g*uey lw? njukruzg co:? krug T A 2B A B % [ EREnAE M RIRE ]
= the causative verbalization of adjectives, the transitivization of intransitive verbs



7. Confucius is a master of great accomplishment. He belittles Kuan Cung.
khom? 2shu? da:ds ban tjw kra: laz1? smew? kom? duns ¢ R 5 W @ @ 1|1 & 04 [FL T K5 2 FHNE ]

= the topicalization construction (L1), the denominative verbalization of adjectives

8. The Three Armies were doubted by the distant people. (in both pre-Qin and later styles)
pre-Qin: su:m kun ke:ns pui 6¥a ¢*an?njin = ® R 38 Y 2 N [ A TIEA]
later: sw:m kun ¢*al ¢*an? njin sq"ra? pu = ® F 25 1 Fe 38 [ = H S E A FEE]
= two passive constructions: A kemns V ¢*a B and A ¢¥al B sq'ra? V ‘A is V-ed by B’

9. I will capture myself and laugh.
na: 2say Aljids grium nju sqhows T Y8 ¢ % A # [EF HIBM K]
= the reflexive pronoun hljids



